


a) 360 —-97 +97 = 360-A

6) 18+19+20+21+22= 100- U
B) 562 — (462 + 60) = 40 - @

r) (20+8)-4= 112-I

n) 2-19:-5= 190-P

e) 16 -3+24-3= 120-Y

(@a+te)-c=a-c+e-cC
a-e-c=a-(e-c)







S=a-‘b

(Mm?, em?, OM?, m?)

P=(a+e)-2=a-2+e-2

(Mm, cm, OM, M)




I pAMOYTroJbHBIN MapaJlIe/JIenuiex —
3T0 MPOCTPAHCTBEHHAaA (purypa,
OrpaHUYCeHHAs NPAMOYrofibHUKaMM .

V=a-+b-c

(mMM>, e’ om’, M)




8:10-9=720 (cm’)
Omeem: V pasen 720 cm’.

JTAaJIOH AJIsl CAMONIPOBEPKH C/p
3:4:7=84(m>) V=a-b-c




/a

40 cm

1)50 - 40 - 30 = 60 000 ( cm?)- V,
2) 40 - 40 - 40 = 64 000 ( cm’)- v
V,<V,




